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Choose the answer that has the following precipitated compounds located correctly in the separation scheme.

dilute _ dil. HCL
NaOH ——————= 1

= 10% NaOH precipitate
HsC —©—N02 ether
evaporate
—‘.

4-nitrotoluene ether 2

precipitate
’ 10% HCI
HaC QOH > dethly,

p-cresol

dil. NaOH 3

HsC NH dilute HCL

-~ precipitate

.

p-toulidine

¢ (A) 1 = 4-nitrotoluene, 2 = p-cresol, 3 = p-toluidine ¢ (B) 1 = 4-nitrotoluene, 2 = p-toluidine, 3 = p-cresol
¢ (C) 1 = p-toluidine, 2 = 4-nitrotoluene, 3 = p-cresol ¢ (D) 1 = p-toluidine, 2 = p-cresol, 3 = 4-nitrotoluene

c (E) 1 = p-cresol, 2 = 4-nitrotoluene, 3 = p-toluidine
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